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Question One (40 Marks)
Read the case below and answer the questions that follow:

NO WAL-MART WAGES

Unions such as the United Food and Commercial Workers Union (UFCW) are fighting for their future and for the standard of living of its members.  According to the Canadian President of the UFCW, the union’s power at the bargaining table for grocery industry is eroding.  Employees are demanding concessions from wages to health benefits to complete with non-unionized Wal-Mart.  For example, the UFCW, in negotiations with Loblaw’s Real Canadian Superstore, recently made a key concession that new hires will be paid less.

Employees in the grocery industry are concerned that their jobs may no longer offer the same hope for promotions or the ability to earn a wage that will keep their families above the poverty line.
For store owners, pressure to keep labour cost down is fierce as Wal-Mart continue to expand and compete directly in their traditional grocery business.  A parallel is drawn to the loss of North American manufacturing jobs to countries with cheaper labour costs.  While companies, unions and people are trying to hold their ground, many are hoping that Wal-Mart’s workforce of more than 1 million will become unionized.  An epic struggle of union against nonunion is occurring.  The anti-union perspective raises the argument that a third party intervention negatively affects a business’s ability to operate successfully.  Wal-Mart has recently announced that it will close its store in Jonquiere due to economic reasons.
a)
Define the term “a trade union”. 





(2 Marks)
b)
Citing examples from the above case, why do you think the Wal-Mart management is opposed to the unionization of its employees?



(4 Marks)

c)
What should the supervisors at Wal-Mart do to reduce the likelihood of unionization?










(8 Marks)

d)
Discuss the major functions of United Food and Commercial Worker’s Union (UFCW).










(8 Marks)

e)
As a human resource manager in the grocery industry, what would be your typical labour relations responsibilities?






(8 Marks)

Question Two (15 Marks)
a)
Discuss the four (4) approaches to employee relations strategy.

(10 Marks)

b)
What is the importance of having a formal grievance procedure in the organization?











(5 Marks)
Question Three (15 Marks)
As a HR Manager in your organization, discuss any eight (8) causes for disciplinary action against an employee.








(15 Marks)

Question Four (15 Marks)
Discuss the main stages of adopting a formal grievance procedure.


(15 Marks)

Question Five (15 Marks)
Discuss the five (5) basic rules that a manager should follow when administering discipline to help reduce the resentment inherent to all disciplinary actions.


(15 Marks) 
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